

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Serdica

Mathematical Journal

Сердика

Математическо списание

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.
Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Mathematical Journal
which is the new series of
Serdica Bulgaricae Mathematicae Publicationes
visit the website of the journal <http://www.math.bas.bg/~serdica>
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

DIRECT AND CONVERSE THEOREMS FOR GENERALIZED BERNSTEIN-TYPE OPERATORS

Zoltán Finta

Communicated by S. L. Troyanski

ABSTRACT. We establish direct and converse theorems for generalized parameter dependent Bernstein-type operators. The direct estimate is given using a K -functional and the inverse result is a strong converse inequality of type A , in the terminology of [2].

1. Introduction. The following operator was introduced by T. N. T. Goodman and A. Sharma in [4]:

$$(U_n f)(x) \equiv U_n(f, x) = \\ = f(0) p_{n,0}(x) + f(1) p_{n,n}(x) + \sum_{k=1}^{n-1} p_{n,k}(x) \cdot \int_0^1 (n-1) p_{n-2,k-1}(t) f(t) dt,$$

where $p_{n,k}(x) = \binom{n}{k} x^k (1-x)^{n-k}$, $k = \overline{0, n}$.

2000 *Mathematics Subject Classification*: 41A25, 41A27, 41A36.

Key words: Goodman-Sharma operator, direct and converse approximation theorems, K -functional.

It was studied for this operator by P. E. Parvanov and B. D. Popov [5] the relation between the rate of approximation of $U_n f$ and the K -functional

$$K\left(f, \frac{1}{n}\right) \equiv K\left(f, \frac{1}{n}; C[0, 1], W_\infty^2(\varphi)\right) = \inf_{g \in W_\infty^2(\varphi)} \left\{ \|f - g\| + \frac{1}{n} \|\varphi^2 g''\| \right\},$$

where $W_\infty^2(\varphi)$ consists of all functions $g : [0, 1] \rightarrow \mathbf{R}$ such that g' is absolutely continuous on $[0, 1]$ and $\|\varphi^2 g''\|$ is finite. Here $\varphi(x) = \sqrt{x(1-x)}$, $x \in [0, 1]$ and $\|\cdot\|$ is the uniform norm on $C[0, 1]$. Originally, in the expression of $K(f, 1/n)$ was considered $L_\infty[0, 1]$ instead of $C[0, 1]$. They have proved a direct inequality and a strong converse inequality of type A , in the terminology of [2], that is for every $f \in C[0, 1]$ were established

$$(1) \quad \frac{1}{2} \cdot \|U_n f - f\| \leq K\left(f, \frac{1}{n}\right) \leq (6 + \sqrt{8}) \cdot \|U_n f - f\|$$

The Bernstein-type operator discussed in this paper will be given by

$$\begin{aligned} U_n^\alpha : C[0, 1] &\rightarrow C[0, 1], \quad (U_n^\alpha f)(x) \equiv U_n^\alpha(f, x) = \\ &= f(0)w_{n,0}(x, \alpha) + f(1)w_{n,n}(x, \alpha) + \sum_{k=1}^{n-1} w_{n,k}(x, \alpha) \cdot \int_0^1 (n-1)p_{n-2,k-1}(t)f(t) dt \end{aligned}$$

(see also [3]), where

$$w_{n,k}(x, \alpha) = \binom{n}{k} \cdot \frac{\prod_{i=0}^{k-1} (x + i\alpha) \prod_{j=0}^{n-k-1} (1 - x + j\alpha)}{(1 + \alpha)(1 + 2\alpha) \dots (1 + (n-1)\alpha)},$$

$k = \overline{0, n}$ and $\alpha \geq 0$ is a parameter which may depend only on the natural number n . In the case $\alpha = 0$, U_n^0 is the Goodman-Sharma operator defined above. The purpose of this paper is to establish for U_n^α direct inequality and strong converse inequality of type A .

2. Direct theorem. The theorem in question can be stated as follows:

Theorem 1. *Let $\alpha \geq 0$ and*

$$K\left(f, \frac{1}{1 + \alpha} \cdot \left(\frac{2}{n + 1} + \alpha\right)\right) = \inf_{g \in W_\infty^2(\varphi)} \left\{ \|f - g\| + \frac{1}{1 + \alpha} \cdot \left(\frac{2}{n + 1} + \alpha\right) \cdot \|\varphi^2 g''\| \right\}$$

Then for every $f \in C[0, 1]$ we have

$$(2) \quad \|U_n^\alpha f - f\| \leq 2 K\left(f, \frac{1}{1 + \alpha} \cdot \left(\frac{2}{n + 1} + \alpha\right)\right)$$

Proof. By [6, p. 1180, Lemma 3.1] we have for $\alpha > 0$ and $x \in (0, 1)$ the following identity

$$w_{n,k}(x, \alpha) = \binom{n}{k} \cdot \frac{B(x\alpha^{-1} + k, (1-x)\alpha^{-1} + n - k)}{B(x\alpha^{-1}, (1-x)\alpha^{-1})},$$

where $B(\cdot, \cdot)$ denotes the Beta function. Consequently, $U_n^\alpha f$ can be represented by means of the Goodman-Sharma operator, as follows

$$(U_n^\alpha f)(x) = \frac{1}{B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right)} \cdot \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} \cdot (U_n f)(t) dt.$$

Hence, by simple computations and [5, p. 166, (2.1)–(2.4)] we obtain that U_n^α is linear and positive,

$$(3) \quad U_n^\alpha(u - x, x) = 0,$$

$$(4) \quad U_n^\alpha((u - x)^2, x) = \left(\frac{2}{n+1} + \alpha\right) \cdot \frac{x(1-x)}{1+\alpha}$$

and

$$(5) \quad \|U_n^\alpha f\| \leq \|f\|$$

for every $f \in C[0, 1]$. Now, the proof is standard (cf. [1, Chapter 9]): using Taylor's formula

$$g(u) = g(x) + (u - x) g'(x) + \int_x^u (u - v) g''(v) dv,$$

for $g \in W_\infty^2(\varphi)$, and (3), [1, p. 141, (9.6.1)] and (4), we obtain

$$\begin{aligned} |(U_n^\alpha g)(x) - g(x)| &\leq U_n^\alpha \left(\left| \int_x^u \frac{|u-v|}{\varphi(v)^2} \cdot \varphi(v)^2 |g''(v)| dv \right|, x \right) \\ &\leq \left(\frac{2}{n+1} + \alpha\right) \cdot \frac{1}{1+\alpha} \cdot \|\varphi^2 g''\| \end{aligned}$$

Hence, by (5), we have

$$\begin{aligned} |(U_n^\alpha f)(x) - f(x)| &\leq |(U_n^\alpha(f-g))(x) - (f-g)(x)| + |(U_n^\alpha g)(x) - g(x)| \\ &\leq 2 \|f-g\| + \left(\frac{2}{n+1} + \alpha\right) \cdot \frac{1}{1+\alpha} \cdot \|\varphi^2 g''\| \end{aligned}$$

Taking infimum over all $g \in W_\infty^2(\varphi)$, we obtain (2). \square

3. Direct and converse theorems. In order to prove our results, we need two lemmas:

Lemma 1. *We have*

$$(6) \quad \sup_{\substack{f \in C[0,1] \\ f \neq \text{linear}}} \frac{\|\varphi^2(U_n f)''\|}{\|U_n f - f\|} = \begin{cases} 0, & \text{if } n = 1 \\ c_0 n, & \text{if } n \geq 2 \end{cases}$$

where $1/2 \leq c_0 \leq 4 + 3\sqrt{2}$.

Proof. Using [5, p. 175, Lemma 5.2] and the estimate given in the proof of [5, p. 177, Theorem 5] we obtain

$$\begin{aligned} \|\varphi^2(U_n f)''\| &\leq \|\varphi^2(U_n(f - U_n f))''\| + \|\varphi^2(U_n^2 f)''\| \\ &\leq \sqrt{2} n \cdot \|f - U_n f\| + (4 + 2\sqrt{2}) n \cdot \|U_n f - f\| \\ &= (4 + 3\sqrt{2}) n \|U_n f - f\| \end{aligned}$$

So

$$\sup_{\substack{f \in C[0,1] \\ f \neq \text{linear}}} \frac{\|\varphi^2(U_n f)''\|}{\|U_n f - f\|} \leq (4 + 3\sqrt{2})n.$$

On the other hand, for

$$f_1(x) = \frac{c_1}{2} \cdot x^2 + x + 1, \quad x \in [0, 1],$$

where $c_1 > 0$ is a given constant, we have $f_1 \in W_\infty^2(\varphi)\{0, 1\}$ (see [5, p. 171]) and, in view of [5, p. 171, Lemma 4.2], we get

$$\begin{aligned} \varphi(x)^2 (U_n f_1)''(x) &= (U_n(\varphi^2 f_1''))(x) = c_1 U_n(u(1-u), x) \\ &= c_1 \left(1 - \frac{2}{n+1}\right) \varphi(x)^2 \end{aligned}$$

Thus

$$\|\varphi^2(U_n f_1)''\| = \frac{c_1}{4} \cdot \left(1 - \frac{2}{n+1}\right)$$

Moreover, by [5, p. 173, (4.6)] and [5, p. 171, Lemma 4.2] we obtain

$$\begin{aligned} (U_n f_1)(x) - f_1(x) &= \sum_{k=n+1}^{\infty} \frac{1}{k(k-1)} \cdot \varphi(x)^2 (U_k f_1)''(x) \\ &= \sum_{k=n+1}^{\infty} \frac{1}{k(k-1)} \cdot U_k(\varphi^2 f_1'', x) \\ &= \sum_{k=n+1}^{\infty} \frac{1}{k(k-1)} \cdot c_1 \left(1 - \frac{2}{k+1}\right) \cdot x(1-x) \end{aligned}$$

Therefore

$$\|U_n f_1 - f_1\| = \frac{c_1}{4} \cdot \sum_{k=n+1}^{\infty} \frac{1}{k(k-1)} \cdot \left(1 - \frac{2}{k+1}\right) = \frac{c_1}{4} \cdot \frac{1}{n} \left(1 - \frac{1}{n+1}\right)$$

Hence

$$\frac{\|\varphi^2(U_n f_1)''\|}{\|U_n f_1 - f_1\|} = \frac{1 - \frac{2}{n+1}}{\frac{1}{n} \left(1 - \frac{1}{n+1}\right)} = n - 1 \geq \frac{n}{2}$$

for $n \geq 2$. Thus

$$\sup_{\substack{f \in C[0,1] \\ f \neq \text{linear}}} \frac{\|\varphi^2(U_n f)''\|}{\|U_n f - f\|} \geq \frac{n}{2}, \quad n \geq 2$$

In conclusion, for $n \geq 2$ we get (6) with $c_0 \in [1/2, 4 + 3\sqrt{2}]$.

For $n = 1$ we have $(U_n f)(x) = f(0)(1-x) + f(1)x$. Therefore $\|\varphi^2(U_n f)''\| = 0$, which implies the conclusion. \square

Lemma 2. *We have*

$$(7) \quad \sup_{\substack{f \in C[0,1] \\ f \neq \text{linear}}} \frac{\|U_n^\alpha f - U_n f\|}{\|\varphi^2(U_n f)''\|} = \alpha_0 \cdot \frac{\alpha}{1 + \alpha},$$

where $1/2 \leq \alpha_0 \leq 1$ and $n \geq 2$.

Proof. By Taylor's formula

$$(8) \quad (U_n f)(t) = (U_n f)(x) + (t-x)(U_n f)'(x) + \int_x^t (t-u) \cdot (U_n f)''(u) du$$

and

$$(9) \quad \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} (t-x) dt = 0,$$

we obtain

$$\begin{aligned} |(U_n^\alpha f)(x) - (U_n f)(x)| &= \\ &= \frac{1}{B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right)} \cdot \left| \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} [(U_n f)(t) - (U_n f)(x)] dt \right| \\ &= \frac{1}{B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right)} \cdot \left| \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} \cdot \right. \\ &\quad \cdot \left[(t-x) \cdot (U_n f)'(x) + \int_x^t (t-u)(U_n f)''(u) du \right] dt \left| \\ &\leq \frac{1}{B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right)} \cdot \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} \cdot \left| \int_x^t (t-u) \cdot (U_n f)''(u) du \right| dt \\ &\leq \frac{\|\varphi^2(U_n f)''\|}{B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right)} \cdot \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} \cdot \left| \int_x^t \frac{|t-u|}{u(1-u)} du \right| dt \end{aligned}$$

Using again [1, p. 141, (9.6.1)] and

$$(10) \quad \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} (t-x)^2 dt = \frac{\alpha x(1-x)}{1+\alpha} \cdot B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right),$$

we have

$$\begin{aligned} |(U_n^\alpha f)(x) - (U_n f)(x)| &\leq \\ &\leq \frac{\|\varphi^2(U_n f)''\|}{\varphi(x)^2 \cdot B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right)} \cdot \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} \cdot (t-x)^2 dt \\ &= \frac{\alpha}{1+\alpha} \cdot \|\varphi^2(U_n f)''\| \end{aligned}$$

Hence

$$(11) \quad \|U_n^\alpha f - U_n f\| \leq \frac{\alpha}{1+\alpha} \cdot \|\varphi^2(U_n f)''\|$$

and therefore

$$\sup_{\substack{f \in C[0,1] \\ f \neq \text{linear}}} \frac{\|U_n^\alpha f - U_n f\|}{\|\varphi^2(U_n f)''\|} \leq \frac{\alpha}{1+\alpha}$$

On the other hand, for $f_1(x) = (c_1/2) \cdot x^2 + x + 1$ (see Lemma 1) we have, as above

$$\|\varphi^2(U_n f_1)''\| = \frac{c_1}{4} \cdot \left(1 - \frac{2}{n+1}\right)$$

and

$$(U_n f_1)''(x) = c_1 \left(1 - \frac{2}{n+1}\right)$$

Hence, by (8), (9) and (10), replacing f with f_1 , we obtain

$$\begin{aligned} (U_n^\alpha f_1)(x) - (U_n f_1)(x) &= \\ &= \frac{1}{B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right)} \cdot \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} \cdot \left\{ \int_x^t (t-u) (U_n f_1)''(u) du \right\} dt \\ &= \frac{1}{B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right)} \cdot \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} \cdot \left\{ \int_x^t (t-u) \cdot c_1 \left(1 - \frac{2}{n+1}\right) du \right\} dt \\ &= \frac{1}{B\left(\frac{x}{\alpha}, \frac{1-x}{\alpha}\right)} \cdot \int_0^1 t^{\frac{x}{\alpha}-1} (1-t)^{\frac{1-x}{\alpha}-1} \cdot c_1 \left(1 - \frac{2}{n+1}\right) \cdot \frac{1}{2} (t-x)^2 dt \end{aligned}$$

$$= \frac{\alpha}{1+\alpha} \cdot \frac{c_1}{2} \cdot \left(1 - \frac{2}{n+1}\right) \cdot x(1-x)$$

So

$$\|U_n^\alpha f_1 - U_n f_1\| = \frac{\alpha}{1+\alpha} \cdot \frac{c_1}{8} \cdot \left(1 - \frac{2}{n+1}\right)$$

and

$$\frac{\|U_n^\alpha f_1 - U_n f_1\|}{\|\varphi^2(U_n f_1)''\|} = \frac{1}{2} \cdot \frac{\alpha}{1+\alpha}$$

Hence

$$\sup_{\substack{f \in C[0,1] \\ f \neq \text{linear}}} \frac{\|U_n^\alpha f - U_n f\|}{\|\varphi^2(U_n f)''\|} \geq \frac{1}{2} \cdot \frac{\alpha}{1+\alpha}$$

In conclusion we get (7) with $\alpha_0 \in [1/2, 1]$. \square

Now we can prove the following result:

Theorem 2. *If $\alpha = \alpha(n)$ and $c_0 \alpha_0 \cdot (n - \alpha)/(1 + \alpha) \leq \alpha_1 < 1$ for $n = 1, 2, \dots$ then for every $f \in C[0, 1]$ we have*

$$(12) \quad (1 - \alpha_1) \|U_n f - f\| \leq \|U_n^\alpha f - f\| \leq (1 + \alpha_1) \|U_n f - f\|$$

and

$$(13) \quad \frac{1 - \alpha_1}{6 + \sqrt{8}} \cdot K\left(f, \frac{1}{n}\right) \leq \|U_n^\alpha f - f\| \leq 2(1 + \alpha_1) \cdot K\left(f, \frac{1}{n}\right)$$

Proof. By (7) and (6) we have

$$\begin{aligned} \|U_n^\alpha f - U_n f\| &\leq \alpha_0 \cdot \frac{\alpha}{1+\alpha} \cdot \|\varphi^2(U_n f)''\| \leq c_0 \alpha_0 \cdot \frac{n\alpha}{1+\alpha} \cdot \|U_n f - f\| \\ &\leq \alpha_1 \cdot \|U_n f - f\| \end{aligned}$$

Hence

$$\|U_n f - f\| \leq \|U_n^\alpha f - U_n f\| + \|U_n^\alpha f - f\| \leq \alpha_1 \|U_n f - f\| + \|U_n^\alpha f - f\|$$

or

$$(1 - \alpha_1) \|U_n f - f\| \leq \|U_n^\alpha f - f\|$$

and

$$\|U_n^\alpha f - f\| \leq \|U_n^\alpha f - U_n f\| + \|U_n f - f\| \leq (1 + \alpha_1) \|U_n f - f\|,$$

respectively. So we obtain (12). For the second statement we use (1) and (12) obtaining (13), which completes the proof. \square

Furthermore, we have the following property:

Theorem 3. *If $\alpha = \alpha(n)$ and $(n^2\alpha)/(1 + \alpha) \leq \alpha_2 < 1$ for $n = 1, 2, \dots$ then for every $f \in C[0, 1]$ we have*

$$(14) \quad (1 - \alpha_2) \|U_n f - U_{n-1} f\| \leq \|U_n^\alpha f - U_{n-1} f\| \leq (1 + \alpha_2) \|U_n f - U_{n-1} f\|$$

Proof. By (11) and [5, p. 169, Lemma 4.1] we obtain

$$\|U_n^\alpha f - U_n f\| \leq \frac{\alpha}{1 + \alpha} \cdot n(n - 1) \cdot \|U_n f - U_{n-1} f\| \leq \alpha_2 \cdot \|U_n f - U_{n-1} f\|$$

Then we have

$$\begin{aligned} \|U_n f - U_{n-1} f\| &\leq \|U_n^\alpha f - U_{n-1} f\| + \|U_n^\alpha f - U_n f\| \\ &\leq \|U_n^\alpha f - U_{n-1} f\| + \alpha_2 \cdot \|U_n f - U_{n-1} f\| \end{aligned}$$

or

$$(1 - \alpha_2) \|U_n f - U_{n-1} f\| \leq \|U_n^\alpha f - U_{n-1} f\|$$

and

$$\begin{aligned} \|U_n^\alpha f - U_{n-1} f\| &\leq \|U_n^\alpha f - U_n f\| + \|U_n f - U_{n-1} f\| \\ &\leq (1 + \alpha_2) \cdot \|U_n f - U_{n-1} f\|, \end{aligned}$$

respectively. Thus we have proved (14). \square

REFERENCES

- [1] Z. DITZIAN, V. TOTIK. Moduli of Smoothness. Springer-Verlag, New York Berlin Heidelberg London, 1987.
- [2] Z. DITZIAN, K. G. IVANOV. Strong converse inequalities. *J. Anal. Math.* **61** (1993), 61–111.
- [3] Z. FINTA. Quantitative estimates for some linear and positive operators. *Stud. Univ. Babeş-Bolyai, Ser. Mathematica* **47**, 3 (2002), 71–84.
- [4] T. N. T. GOODMAN, A. SHARMA. A Bernstein-type Operator on the Simplex. *Math. Balkanica* **5**, 2 (1991), 129–145.
- [5] P. E. PARVANOV, B. D. POPOV. The limit case of Bernstein’s operators with Jacobi-weights. *Math. Balkanica* **8**, 2–3 (1994), 165–177.
- [6] D. D. STANCU. Approximation of functions by a new class of linear polynomial operators. *Rev. Roumaine Math. Pures Appl.* **13**, 8 (1968), 1173–1194.

Babeş-Bolyai University

Department of Mathematics and Computer Science

1, M. Kogălniceanu st.

3400 Cluj, Romania

e-mail: fzoltan@math.ubbcluj.ro

Received July 21, 2003